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Questions : 1

What number should replace the question mark?

Ans: 40

16+ 11+29=29+ 27

4+18+51=6+67

18+19+5=40+2

Questions : 2



What number should replace the question mark?
(21D (X (1X6)

4x19=76

Ans: 4

Questions : 3

What number should replace the question mark?

16 8

722 2)/

19 10/(18 27 9
24 5

Ans: 20

(7+26+17)- (8 +12+10)=20



Questions : 4

What number should replace the question mark?

8] [6]

28 9 7

B ARNE

Ans: 44

(8 5)- (6 +6) =28

(9x8)-(7+7)=58

(7Xx7)-(9+3)=44

Questions : 5



What number should replace the question mark?

Ans: 24

(6x7)-8=34.

(9x5)-11=34.

(12 x 6) - 26 = 46.

(8 x 4) - 12 = 20.

(6 x6)-12 = 24.
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